[ Gmmdr-_-j - Firsk Semester Finol Review ]

Know the vocabulary. You will be able to use your postulate packet but it takes a
lot of time if you don't know what you are looking for!

angle angle bisector

linear pair midpoint

coplanar bisect

postulate collinear

vertical angles supplementary angles
adjacent angles straight angle

segment bisector congruent segments

right angle congruent angles

theorem obtuse angle

acute angle complementary angles
midpoint equidistant

perpendicular lines perpendicular bisector
angle bisector concurrent lines

point of concurrency perpendicular bisector of a triangle
circumcenter angle bisector of a triangle
incenter median of a triangle
centroid altitude of a triangle
orthocenter midsegment of a triangle

You are able to use ONE 3”X 5” INDEX card to write any definition, formula, note, example, etc. to use
on your midterm.



Use the figure to the right to answer the following questions.

1, Mame three collinear points. x

2, Name three noncollinear points, "

3, Mame an angle of which B is the vertex

o

Use the number line to answer the following questions.

[ 4] P E

7T 8454321012 3 458 7T
4, Give the coordinate of point E.
5. Give the coordinate of the midpoint of OE.
6. 0E + RO = [number vaiue)
7. FE+0F = (segment]
State the following formulas,
8, Distance Formula 9, Midpoint Formula
Om a coordinate plane, let X[-5, 2) and Y[-3, 1).
10. Find XY, 11. Find the midpoint of X¥,

Use the following conditional statement to answer the following gquestions.
If a figure &= a square then it has four sides.
12, 5tate the hypothesis (p) and conclusion {g).

E=

q=

13, Write the comverse,

Use the following hypothesis and conclusion to write the conditional, inverse,
converse, and contrapositive statements. (Hint: Write out your if-then stotements using p
ard g first, then fill in with words!)

12, p- three points are on the same line q: they are eollinear

Conditional:

Inverse:

Converse:

Conirapositive:

Use the following conditional and converse to write a biconditional statement.

15, Condrtional- If a tomato is ripe, then it is red.
Converse: If a tomato is red, then it is ripa.

Use the following diagram to answer the following questions.

[ R Z
Given: TT L WT and BT bisects ¥RT

14, Hame a set of complementary angles.

17. Hame a set of supplementary angles.

18, Hame a set of congruent angles,

19, Hame a set of vertical angles.

20, Name a right angle.

21, Hame an acute angle,

2. £YRE=3x-Band <TREZ=5(x-5) findx

23 0f tNRW =5x+ 4 and + NRX=2x-12 find =

Using the figure to the right, state how the two angles are related. Then state
whether they are congruent or supplementary.

24, r2and £ 7
Given: k I n

25 £3and £7 . ?/: I't‘

445

26, £5and 26 B 2/6 n
a ?3 -

27, £1and £8

28, f4and L6

29, £1and £4

Find each variable in the following diagrams.
30, 31

12-5,



State whether the following lines are parallel,
perpendicular, or neither.

32linely=2x-3  33.lmely= —%x—:;

Line 2:y=9+2x Lipe 2: 3y -5x=-33

Answer the following questions about congruent figures.

34, Name five ways to prove that two triangles are congroent,

State if the following triangles can be congruent. If yes, state the congruent statement

and the congruence postulate or theorem.,
38, W 39. X“
fAA ! °
X T '

Write a two-column proof of the following.

_ 40, Given: £TQ5 = 2R5Q
35. What does CPCTC stand for? ST R R T
Prove: AT(S 2 AR50

36.0FAXYZ = AABC, then AB= __ and 2X= . a s

Saolve the following using properties of triangles.

37, In AFUN, the measare of £F is 332

, The measure of .1 is six times the measure of LN,
Find ms N and msLi,
41, Given: PR bisects £QP§
FQ=F3 a
Prove: £ 2 £5
-] R

Complete the following constructions. <

42, In the followng rangle, draw the median fro

the perpendicular bisector of WY,

W
X i
Use the diasram of AXYZ where A, B, Decide whether the following side lengths can create a triangle.
and C are midpoints of the sides to answer the _
. . 45, 9,12, 14 44, 2,18,7
following questions.
47, 35,90,46 48. 1,12
43, IFAC=3, thenXZ =
44.1YT =7, then AB = MName the shortest and longest sides of each triangle,
49, P 50. B ¢
~0Q
R A
Name the smallest and largest angles of each riangle.
5l a 52, u 12 v
X
3
3 18 14
z W



Answer the following questions about polygon angle measures.

53, Find the sum of the measures of the interior angles of a polyzon with 5 sides.

54, Find the measure of ome interior angle of a regular polygon with 30 sides

Find each variable in the following diagrams.

5. -5 A 3ws 8
- b Swed c

State the shape and then find the area of the following polygons.
57. 5. 17 cm

4in 6 om

Bin

GEOMETRY MIDTERM MULTIPLE CHOICE PRACTICE

1. 3,
In the diagram below, which pointis Which group of points is not coplanar?
not coplanar with the points Aand Bon G H
the plane shown? A c /]
B L i
/ !
F . ;F. ....... G .7‘5
& A " °
oA J ADAEE € EGBA
¢ B EFGH D GBFED
[ ]
/ a.
Given the diagram below, which of the
following statements is NOT true?
F F H D
G E y TR
2.
In the figure below, you cannot assume
that _? .

£TUVand £ VUW are adjacent
complementary angles. If mZTUV =
80°, what is mZ VUW?

H ST and PR are both segments A 10° c 70°
) PT and QT are opposite rays B 90° D 170°




6.
What is the distance beteen points
A(1,9) and B(4, —2)?

A V58 C V130
B 58 D 130

7.

AB has endpoints A(2, 4) and B(8, y). If
AB is 10, what is the value of y?

F 8 H 64
G 12 J 100
8.

Use the Transitive Property of Congruence
to complete the statement. If AM = £ T
and £T= LA, then
A IM=IM

B LA /LT

C IM=LA
D LT=4LM

9.

Given that 2 QRS = Z ABC, which
statement s an example of the
Symmetric Property of Congruence?

F LQRS=/QRS H LQRS=/ABC
G LABC=LQRS ) LABC= LABC

12,

Use the figure below, in which g||r.
Which of the following could be the

measures of 24 and 267
1/2 q
3/4
5/6 r
7/8

A mi4 = 60°, mL6 = 60°
B m44=70°, mL6 =20°

C mi4 = 110°, m£L6 = 110°
D mi4 = 160°, mL6 = 20°

13.
Find the value of x.

2x+5)

(x+ 12

A x=35
B x=7

C x=85
D x=17

10.

Find the value of x.
3x°
+28)°
F x=7 Hx=93
Gx=14 J x=47

11.
Name pairs of congruent angles in the
figure.

. ZEIFand LGIH
. ZGIFand LGIH
. ZFEIFand £GIF
IV. LEIGand LFIH

F land IV H land !l
G Iland1Il J Tonly
14.

In the diagram below, what is the
value of x?

o

F 70° H 50
G 60° J a0

15.

Which of the following lines is parallel
to the line that passes through (-1, —3)
and (5,0)?

1
Ay=—x+9

r=g5>
B '——-l-x—3

’ 2
Cy=2x+5

D 6x—3y= -1

16.
What is the y-intercept of the line that
is perpendicularto y = ~3x — 5and
passes through the point (-3, 7)?



17 Complete the congruence statement,

given that quadrilateral ABCD = PQRS,

AD=_2

= om
23133

18.

If MNPQ = ABCD, which of the
following conclusions can you make?

A ZNMP = /BCD
B AZNPQ= LBCD
C LPQM = LBAD
D none of these

19.

For what values of x and y are the
triangles congruent?

3x +4y 4x-1

Use the diagram and the information
given to complete the missing element
of the two-column proof.

Given: Ell XY o
AY bisects XB.
Prove: AAJB = AYJX.

\H/L_x

A

Statements Reasons
1. AB|| XY 1. Given
2. ZB= /X 2. Converse of the
A=Y Alternate Interior
Angles Theorem.
then alt. int.
Zs are =,
3. AY bisects XB. 3. Given
4. JB=JX 4. Definition of
segment bisector
5. ANAJBR = AYIX 5.
A ASA C SAS
B AAS D SSS
21.

Which congruence statement can be
used to prove that AEFH = AGFH?

E
\o/F
G
H SSS
J ASA

am™m
£E



22.
A triangle has vertices A, B, and C.
Which of the following does NOT
describe a right, isosceles triangle?

F méiB=90"and mLZA=miLC
G msA =90°and AB = AC
H AB = ACand mZA = 45°
J AB=ACand m4B = 45°

23

What is the best description of the
triangle shown in the figure below?

b 4 Y

X

A right
B isosceles
C equilateral

D scalene

24.

The sails of two boats are pictured below
What is the value of y?

A 20 C 70
B &0 D 90

27.

Which of the following is an illustration
of an angle bisector?

A
AN

25.

A C

ifyou know that DE || AC, and that D and
I are midpoints, which of the following
guarantees that AC = 2DE?

A ‘Triangle Midsegment Theorem
B Median-Altitude Theorem

C CPCTC

D Definition of triangle bisector

26.
Which segment is the altitude of the

largest triangle in the diagram?
B

A D E 4
AE = EC

F AD

G DC

H BE

) BD

30.
Which of the following would prove that
quadrilateral QRST is a parallelogram?

Q R

T S,

F QR=ST

G QR|ST

H QP = PSand TP = PR

J Two pairs of sides are congruent.



31.
23, If ABCD is a parallelogram, then what is

What is the point of concurrency of the the value of x?
altitudes of a triangle? A 13am 8
A circumcenter
B incenter 6cm
C orthocenter
D centroid D &x+5m C
29, A4
21. The diagonals of parallelogram MATH g g
bisect each other. What is the length
of OH? v
A T 32.
—4ax -8 Find the value of x in parallelogram
FGH]J.
) F G
P 5x + 20)° (7x — 20)5
3y+10
M H
A -2 J H
B 3 F 5
c4 G 10
D 13 H 15
J 20
33, 36.
Which quadrilateral must be a Which of the following statements is
parallelogram? NOT true?
A c F The diagonals of a rhombus are
perpendicular to each other.
G The diagonals of a kite are
perpendicular to each other.
H The diagonals of a kite bisect each
other.
B D J The diagonals of a parallelogram
bisect each other.
37.
Quadrilateral UVWX is a rhombus.
What is the value of b?

3. V) v
Which is the most specific name for a 2y, =1
quadrilateral with four congruent sides? : :
F_square c 100
G rhombus D 130
H rectangle : 4
J parallelogram X by (a - 30) W




35,

Quadrilateral JKLM has four congruent
sides and four congruent angles. What
Is mZJKL?

A 45°
B 60°
C 90°
D 1807

39,

Quadrilateral JKLM has vertices

(-4, —1),K(—1, 2),and L(6, 2). For
what coordinates of point M is JKLM a
parallelogram?

A (3 -2)
B (3,-1)
C (4,0)

D (4, -1)

33.

The coordinates of three vertices of a
parallelogram are (0, 0), (8, 5), and (15, 7).
Which of the following is not a possible
fourth vertex?

F (-7,-2)
G (-3,-8)
H (23, 12)
) (7,2)

40.
What is the value of x that makes the
shape an isosceles trapezoid?

n4&s

(3x+12F°




